Penthouse in Fgura



Reference No: 240041078-75

Fgura, South



€366,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 205

Bedrooms: 2

Penthouse - For Sale - Fgura

Fgura—This newly Built Fourth-floor Penthouse consists of a combined kitchen/ dining/ living area, a main bathroom, two double bedrooms, the main having an en-suite shower and walk-in wardrobe. Wide terrace with space for a pool. Optional garages underneath the building.

Features

- Ceramic Floor
- ✓ Water Utility
- Double Glazed
- ✓ Pool Deck

- En Suite
- Gypsum Plastering
- Terrace

Rooms

- Kitchen/Living/Dining: 5 x 7.1 m (35.5 m2)
- ✓ Bathroom Ensuite : 2.3 x 2.1 m (4.83 m2)
- ✓ Bathroom : 2.5 x 2 m (5 m2)
- ✓ Single Bedroom : 2.7 x 4 m (10.8 m2)
- Double Bedroom : 3.3 x 3.1 m (10.23 m2)
- ✓ Walk In Wardrobe : 4.2 x 1.7 m (7.14 m2)
- ✓ Box Room : 1 x 2 m (2 m2)
- Open Space : 4 x 10 m (40 m2)
- Open Space : 20 x 3 m (60 m2)

Gallery







Shawn Wood

RE/MAX Park Estates - St Paul's Bay

M: 79343660

E: shawn@remax.com.mt

T: 21579747

RE/MAX Park Estates - St Paul's Bay

Park Estates Ltd, Mosta Road, St Paul's Bay, Malta